Trigonometric Equations
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5 Solve the following equations for @, in the interval 0 = @ =< 2, giving your answers to
3 significant figures where they are not exact.

a Scos20=4 b 5sin30+3=1
¢ V3tan46-5=-4 d V10cos20 +v2 =32

6 Solve the following equations for 6, giving your answers to 3 significant figures where
appropriate, in the intervals indicated.

a V2sin30-1=0, -7 =s0=<n b 2cosd4f = -1, -Tr<0<2rw
¢ 8tan20=17, =27 =0 =27 d 6cos20-1=0.2, -7 =0 =< 3w

® 7 Solve the following equations for 6, in the interval 0 < @ < 27, giving your answers to
3 significant figures where they are not exact.

a dcos?f=2 b 3tan20+tah0=0
¢ cos?f—2cosf=3 d 2sin228 — 5co0s20 = -2

@ 8 Solve the following equations for 6, in the interval 0 =< @ = 2, giving your answers to
3 significant figures where they are not exact.

a cosf+2sin?+1=0 b 10sin?6 = 3cos?d
¢ 4cos?0 + 8sin?@ = 2sin?0 — 2cos?0 d 2sin?0 -7+ 12cos@ =0

(® 9 Solve, for 0 = x < 2,

s 1 1
a cos (x - ﬁ) = E (4 marks)
: 1
b sin3x= -3 (6 marks)
10 a Solve, for -7 < 6 <, (1 +tanf )(5sind - 2) = 0. (4 marks)

b Solve, for 0 = x < 27, 4tanx = Ssinx. G marks)
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@ 9 Solve, for 0 = x <2,

a COS(X"‘ i = l
12)'\/5
b sin3x=—%
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